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4R18 A — 7TA1B A — 10818 X — 1A1H 7k

4828 X — 7H28 X — 10A28 & STCW HAX 1828 &

4R38 X — 7TH38 K — 10A3H & STCW &7 1A3H &

4AR48 K — 7H4R K — 10A48 € — 1R48 £

AR58 &= — 7A5H & — 10R5H + 18580 H

4868 * 7H6H * 10A6H H 1868 A —

4R7H H 7TR7H H 10878 A — 1878 X —

4888 A — 7R8H R — 10A8H X — 1A8AH K —

4R98 X — TR9H X — 10A9H 7« — 1898 & —
48108 K — 7TR108 K — 108108 & — 18108 &= —
4118 K STCW HK 7TR118 K — 10118 € — 18118 +

48128 = STCW &7 7H128 £ — 10128 + 18128 H

4A138 £ 7H138 108138 H 1A13H A

48148 B 7R148 B 108146 A 18148 X —
48158 A — TR158H B 108150 X — 18158 K —
48168 X — TR168 X — 10A16H 7 — 1A16H & —
48178 X — TR178 K — 108178 & — 18178 = —
47188 K — 7H18H K — 10A18H & — 18188 +

48198 = — 7H198 £ — 10198 =+ 18198 H

48208 + 7H20B + 108208 H 18208 A —
48218 B 7H218 B 108218 A — 18218 Xk —
48228 B — TR228 B — 108228 X — 18228 & —
48238 X — TH238 X — 108238 & — 18238 & —
48248 7Kk STCW HK TR248 XK — 108248 & — 18248 = —
4A258 K STCW &7 7TH258 K — 10A25H € — 18258 +

4A26H & — 7H268 £ — 10A26H * 1826H H

48278 £ 7H278 10827H H 18278 A —
48288 H 7H28H B 10A28H A — 1A28H X —
48298 A TR298 B — 108298 X — 1A298 K —
48308 X — TR308 X — 104308 & STCW HK 1A308 & —

518 K — 7TH318 XK — 10A31H & STCW X 18318 = —

5828 K — 8A1H K — 11518 € — 218 +

5A3H € 8A2H € — 11828 + 2R28 H

584H * 8A3H * 11A3H H 2A3H A —

5858 H 8R4H H 11848 A 2R48 X —

5A6H A 8A5H B — 11858 X — 2R58 K —

5878 X — 8A6H X — 11868 — 2R68 K —

5888 K — 8ATH X — 11A7H & — 2R7H & —

589H K STCW HK 8A8H K — 11588 € — 2R8H *

58108 &= STCW &7 8A9H € — 11898 + 2R98 H

58118 £ 8A10H + 115108 H 2R108 B —
58128 B 8A11H B 118118 A — 2A118 X

58138 A — 8R128 A 118128 X — 2R 128 X —
58148 X — 8A13H X — 118138 & STCW HK 2R138 K —
58158 7K — 8A 148 K — 11A14H K STCW X 2148 = —
5A16H & — 8A15H K — 11A15H € — 2A158 +

58170 = — 8A16H = — 11A16H =+ 2168 B

5818H £ 8A17H 11A17H H 2R178 B —
5H19H H 8A18H H 11A18H A — 2R18H X —
58208 A — 8A19H B — 118198 X — 2R198 XK —
58218 X — 8R208 X — 118208 & STCW HK 2R208 K& —
58228 K STCW HK 8A218 K — 11218 K& STCW &7 2A218 & —
58238 & STCW X3 8220 K — 11228 € — 2R228 £

58240 &= — 8H230 £ — 11A23H * 2H23H H

58258 £ 8H24H 118248 H 2H248 B

5H26H H 8H25H H 118250 A — 2R258 X —
58278 A — 8R26H B — 118268 X — 2R268 K —
5828H X — 8R278H X — 118278 X — 2R2718 K —
58298 K STCW HK 8A28H K — 118280 & STCW HK 2A28H & —
58308 & STCW X 8A29R K — 11298 € STCW &7 3818

58310 = — 8A30R £ — 11A30H * 3H2H H

6A1H £ 8A31R 12418 H 3H3H A

6A2H H 9H1H H 12828 A — 348 X —

6A38 A — 9828 B — 12838 X — 3A5H K —

6R48 X — 9A3H X — 12R48 & STCW HK 368 K& —

6858 K — 9848 X — 12B5H K& STCW &7 387H & —

6A6HB K — 9A5H K — 12R6H € — 3880 *

6A7H & — 9A6H € — 12R7H = 3H9H H

6H8H L 9A7H £ 12H8H H 3A108 A —

6H9H H 9H8H H 12A9H A — 3118 X —
6A108H A — 9A9H A — 128108 & — 3R128 XK —
6A118 X — 98108 X — 128118 7K — 3138 K —
64128 K — 9118 X STCW HK 12128 K& — 3148 & —
68130 & — 98128 K~ STCW £F 12130 € — 3R15H £

68140 & — 98138 £ — 128148 = 3H16H H

68158 £ 98148 £ 12A15H H 3A17H A —
6H16H H 9A158 H 12A16H A — 3R18H X —
6A178H A — 9A16H A 12A17H X — 3A198 XK —
68188 X — 9A17H X — 12818H 7k — 36208 &

6A19H 7K — 9A18H K — 128198 K& — 3A21H & —
68208 & — 98198 K STCW HK 128208 € — 3228 £

68210 & — 98208 £ STCW £F 128218 = 3H23H H

68228 £ 9A21H £ 128220 H 3H248 A —
6H23H H 9A228 H 12A23H A — 3258 X —
6R248 H — 9A238 A 128248 X — 38268 X STCW HAX
6A258 X — 9R248 X STCW HAK 128250 7k — 38278 K STCW X
6H26H K — 9A25H K STCW £F 12A26H K — 3A28H & —
68270 K — 9A26H K — 12B27H € — 3298 £

68280 & — 9A27H £ — 12A28H = 3A308 H

6829 £ 9H28H £ 12A29H H 3A31H A —
6H308 H 9A298 H 12A30H A

9A308 A — 12A31H X




